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Introduction to o "D — WY 119

Our j799is made up of two distinct sections; the first, which is ‘8 mywp and the attendant discussion, focuses on the placement, size and various de-
tails of the 75w narw; the second half deals with the procedure for 9177 m277— which include 917 nxvnand 9win now
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I ’x mwn: status of mw7p 'w7p slaughtered atop the namn
a  ’pp’ronany part of the namn — valid —as if (1>Rd) slaughtered in pax
b /7 92 201 “1. from mid-point south — 0177; from mid-point north — pax
i Analysis:
1 jpnp 77 owa sox ’7. quotes *ov M as having claimed that the entire nam is in the north
(a) Question: why does he use the term (paxa vnwi) ¥9>83?
(i) Answer: 8”70 that namnn 71 is required - 5"np
(if) Challenge (177): "oR "1 quoted > stating that according to »a»7, in the same spot on the ground - 5108
1. Cannot mean: slaughtering on o> or 221y0 — those are part of the nar;
a.  Nor: making tunnels and slaughtering below; that’s a violation of v. 1 — nnTxR nam
b.  Rather: must mean that that part of the narmn wasn’t built - it isn’t really in pax
(iii) Answer: 13m "1 explained that »”2»/70v "1 disagreed about v. 1
1. »p» 71 entire nam valid for both m»y and ombw
2. »77. half for m9y (considered "nax”) and half for ninHw
a. Argument: if entire narn were w3 for m»p, no need to teach that its also nnow5 w2
b.  Counter: R"10 the NN gives extra room for m>y, since they have more limited area — 5"np
(b) &1 7. tries to find soure for 37nY "1’s claim that >0 "1 holds entire nam is in north
(i) Found: n:a 1nn —secondary n37yn (for n1vp) is 4 mnk north of SW corner of nam
1. yo20: follows *ov "7’s dictum that anything brought inside or outside is taken from/placed on clos-
est access point on nam
a.  Cannot mean: 7onna nrRon 07 1Y (that’s explicit - v. 2); nor fire for 3”nv nop (v. 3)
b.  Must mean: fire for nmop every day and fire for burning n112% *21a (atop 0290 DnY)
i.  And:only works if narn is all in north; else, the fire would have to be further north to
be facing entrance to %3'n (or DR — if it carries same nwYTp as Y3°n)
ii. 4 .mmpx 1 for mo, 1 for 2219, 1 for 19p and 1 for walking space for o’
2. Dissent (772718 72 X78 77): author in Tnn is N7 7 — nam is midway; YR NWITP is included and the
“4 mnRr” are from edge of nam (i.e. 6 from edge of M) >situated at extreme south edge of nna
a.  Note: he prefers ID of nTn’ "1 as he had explicit tradition about nmn’ *v’s tradition
3. Dissent (x227® "): author of Tnn is 3", per his take on location of v (vv. 4-5)
a.  Detail: he has it placed between nam o%R, on south side = all namn is in north
b.  Question: why not place it on north side?
i.  Answer: oy is to be clear of 09 (to leave room for mw7p »wTP NVNY) per Nnax (v. 6)
c.  Disputant: »"aR1 — infers from nnox that the north should be clear, even of nam
i.  ->namallin south
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